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Teacher’s Answer Key for Measurement Problem Solving 
Card:           Answer:     Answer:       Answer: 

4 cups = ? 1 quart 2 pints  

4 cups + 1 quart = ? 2 quarts 8 cups  4 pints 

2 cups + 3 ½ quarts = 
? 4 quarts 16 cups  1 gallon or 8 

pints 

3 cups + 1 cup = ? 1 quart 4 cups  2 pints 

4 cups + 2 quarts = ? 3 quarts 12 cups  6 pints 

2 cups + 6 cups = ? 2 quarts 8 cups 4 pints 

½ quart + 2 cups = ?   1 quart 4 cups 2 pints 

8 cups + 1 quart = ? 3 quarts 12 cups 6 pints 

½ cup + 3 ½ cups = ? 1 quart 4 cups 2 pints 

1 quart – 1 cup = ? 3 cups 1 pint + 1 cup  

2 quarts – 4 cups = ? 1 quart 4 cups 2 pints 

8 cups – 1 quart = ? 1 quart 4 cups 2 pints 

16 cups – 1 quart = ?  3 quarts 12 cups 6 pints 

3 quarts – 4 cups = ? 2 quarts 8 cups 4 pints 

4 quarts – 8 cups = ? 2 quarts 8 cups  4 pints 
 


